library(nvtnorm
sigma=matrix(c(1.1,1,1,1.1), ncol =2)
z1l=r nvnor m( n=150, nean=c(2. 5, 2. 5), si gma=si gnaa)

sigma2=matri x(c(1,0.85,0.85,1), ncol =2)

z2=r nvnor m( n=150, nean=c( 3. 5, 3. 5), si gma=si gna2)
sigma3=matrix(c(1,0.75,0.75,1), ncol =2)

z3=r nvnor m( n=150, nean=c(5, 5), si gma=si gna3)

Cl=cbi nd(z1[,1],z2[,1],2z3[,1])
Ci[1:3,]

C2=chbi nd(z1[, 2], z2[,2],z3[, 2])
ri=matrix(t(Cl), ncol =1)
r2=matrix(t(C2), ncol =1)

| D3=mat ri x( NA, ncol =3, nrow=nrow(z1))
for (i in 1:nrowzl))

{

for (j in 1:3)

S
I D3[i,]j]=i
}

}
| D=matrix(t(1D3), ncol =1)
BD=chbi nd(I D, r1,r2)
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